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Figure 7

28, The nnalysis for the super meshia
from thie afrenit tn Flgure 6 8 gren
A
AL Hl‘| + 4'1 *HH - Efl_ =i}
B, 2+ 6+ 80 =4, =0
CF dy' s 46l = ’"1, =)
Do by 3412 — 4L, =0
29 The annlyiin Jor mesh 4 T die
cirguil m'Figure - m given as
A 24 EIN..—I,} +20=0
i 54, — 44, ==5
. 2y +2[ay —f)+20=1D
0 By —4iy = —10
3 The KL for e dependent apd
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the cirgull i Figurs 6 i g i
(given iy == i4)
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A1, The misalysis for the super node in
the cireultm Figure § s givenus
A, By —my—B=8
B o =—204 1,
¢ oy =05 —14=4
D¢ vy = =320'— 2uy
32, The KV onathvsis o the super node
in theeireull n Flanme $ 1 plven as
A =gy =2
B Up=2-+uw
C op=w+d
1 2oy =20 44
I T il werbimios 1y il o2y vidlibes
ru.pe:llt'cty b the Figure 8 e
= -7.333F. py =
—1113‘?
B wp=—1433230, vy =
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C. o = 7333V, vy =
5233V
0wy = 14,333%, ¥y =

10.333¥

Fiyure 1)
34, Determine the equivaleni roslstings
in.the Figire 9 above
1‘. I-m
B xzn
C 0
(BRI
33, Find the equivalent resistance fn the
Flgsire 10 shove
Al B350
B, 13404
C:11ae
D, 100
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Figwee 12

16, 1/ sling superposition theoter | e
irgut in Figure 11 the anlysis fis
mesh 2 when valisge sourge o thsy
clrpuit | shor clrouit is given 2

A (44 00= 22— i, =0
B (44 2y =~ 2+ My =0
Cs(4— 4y +j2y = 2l =0
D. (4~ j4)ly + jaly+ j2l, =0

37. The wnulynis for mesh 1 a8 volmges
source in the circull in Flgure |1
remaln shor chreuls b given g

Al (4= Ja)l; + [Sly=jiy = 0
BB+ O =100 4 j2I. =
C (t=f2)h +0—=py=0
(B4 Sl 21, =0
38 The value for [, when currens
sogree SA b open circit in: the
phrewlt in Figure |0 b given s
AL f, ==-2353+ [2353A
€. I, = 5556 — j5.556A
D. ly = ~3421 + J3A24A
39 Find the Thevenin reslatpice Ry )
wnd Thevenin voltage [Viy) in the
chreuit in Figure 12
A 4020V
B, 20, 1oV
C: 24 W
0, 443, 30V
40, Fird the value for Norton carrent 1y,
In the elreult In Flgure 7 above
A 2A
B05A
C Ia
B LsA

Puge S o6



	elect1.pdf
	elect4.pdf
	elect5.pdf



